- \ve
- \ve

- \ve

rb|HL
rb|HL

T_part_Z0-sig0.110000-alpha-1.99|
T_part_Z0-sig0.110000-alpha0.00|

rb|HET_part_Z0-sig0.110000-alpha2.00]

go.s- | Jy 1 +
& T | +
! b,
- 1
} ¢ 4
0.2 A +
¢
i

\verb|log10(A/A0)_ref]




-@- \verb|HLT_part_Z0-sig0.130000-alpha-1.99|
-8 \verb|HET_part_Z0-sig0.130000—-alpha0.00|
-®- \verb|HLT_part_Z0-sig0.130000-alpha2.00|

0.4+

[11]
(]
11
o0 A | +

5'03
(@)] WO T 3
2 ; i
| % J 7+
)
= I 4 1 +
2 1 4
g Im I I:I:ll + + +

0.2+ 41

¢<l>
0.14
-3 -2 1

\verb|log10(A/AQ)_ref]




-®- \verb|HLT_part_Z0-sig0.500000-alpha-1.99|
-®- \verb|HLT_part_Z0-sig0.500000-alpha0.00|
-®- \verb|HLT_part_Z0-sig0.500000-alpha2.00|
0.7+
1 I
i1}
— 1]
T 1]
(o)} |
=
| |
2 06- IXIK) th
) Pl (4
)
= )
J ' [ ]
! I
0.5+ *
T T T l 1 T T
-4 -3 -2 -1

\verb|log10(A/AQ)_ref]




